
Instructions

Gods’ Man (1929)

On this 
test:

Each page is a question.
 The answer choices are
 in another packet.
 The questions are not
 “traditionally” phrased.
              There will be
                 NO disputes
                         based 
                             on
      

    incorrect 
  interpretations of 
                       questions.



Action Comics No. 1 (1938)

Question 1

Welcome to the Mystery Test!

Yes boss?
Clark, we need an 
homage to past…

…Mystery Tests!
But how?

Self-
Referential?

Great idea!  Let’s do it for
the first four questions of
this test. Question #2 will
have an actual answer.  What
         should this one be?

I know: “The only repeated 
answer in the first four 
questions is…?”

Great stuff, 
Clark!  Going to 
next question?

Yes, 
thanks!

But first…

Editor!
That’s right!
You’ll …

… never write 
this test! We’ll see about 

that!  I just 
need to make 
           sure…

…the solution 
is consistent!



Whiz Comics No. 2 (1939)

Question 2

S S H
          x Z Z
     M Z M H
M Z M A
M H H S H

A
cryptarithm: Each letter represents the same prime digit

(2,3,5,or7).  There is a unique solution you 
must find.  Then, find the sum of all 18 of 
the digits in the cryptarithm.

Do not delay!
This test is
  not easy.

Is the answer
198126113?

No, but that is the number you get when you
write “Shazam” using numerical letter values
concatenated....

Oh, okay.



Detective Comics No. 33 (1939)

Question 3
I have been tasked with the 
second self-referential question.

Oh no!

This will 
require much 
work…

And so…

I need inspiration so 
the test is consistent 
and unique!

I have it: “The first 
question on this test whose 
answer is (a) is…”

I will train my mind,,, And my body…

Until I 
am
finally 
ready!…

Now what?

Shame for
all that training
to go to waste

I guess I’ll become Batman



Marvel Mystery Comics No. 8 (1940)

Question 4

What is the answer to this question? You have all the information you need.

Self-referential tests are 
weird but luckily that isn’t 
the whole test.

Many of the rest of the…

…questions on this test are from the year of 
their comic, though!  Good luck and have fun!

Watch out!

Math incoming!

Yes!

Really?



All-Star Comics No. 3 (1940)

Question 5

Just-Six League Sudoku!

Put the digits 1 to 6 once each in 
every row, column, and 2x3 box in 
the grid.
Your answer to this question is 
the sum of the digits along the 
indicated diagonal.



Incredible Science Fiction No. 33 (1955)

Question 6

I have four 
positive 
integers!

Ok It’s all just a game

I’ll give you
three of 
my integers.

Thanks?

A numbers game

I averaged 
your integers!

Good

Now I’ll take your 
average and add it to the 
integer I didn’t give you.

Sounds
legit.

The only possible 
results are …

Just stop

… 29, 23, 21, and 17.  Why didn’t he 
care?

Which answer choice could be one 
of my original integers? 



Fantastic Four No. 1 (1961)

Question 7

I have a
sequence!

Let’s call out 
the terms and 
wrestle! 2,3,

5,11,

23,29, X,53, 83,89, I think 
that 

might 
be 

enough!

113,…
Agreed Anyone should 

be able to… 
Tell us 

what X is!

(Or at least 
give a Germain 

guess…)



The Flash No. 123 (1961)

Question 8

Let’s have a
race over D
yards going 
at uniform 
speed!

Fun!

Jay can beat 
Walley by 20 yards.  
  Walley can beat 
 Barry by 10 yards, 
  and Jay can beat 
  Barry by 28 yards.

What is the
distance D
of the 
race?

Hmmm…

Nobody 
told me 
There
would be 
a math 
test!

It’s a good thing I’m also 
the Flash!

Because math
tutoring is
very 
expensive!

Yikes!



Avengers No. 4 (1964)

Question 9

Cap’s watch loses
2.5 minutes per day.

Seems minor.
He’s frozen.

Agreed.

The watch is set to
 1 pm on March 15 

Is that the 
correct time?

Yes

Ok

When the watch 
Shows 9 am on
March 21…

Go
on....

What is the 
difference 
  between....

The actual and
watch time?

We mean 
the positive 
Difference
in minutes!



Strange Tales No. 138 (1965)

Question 10

𝑷 𝒏 = 𝒏𝟒 + 𝟔𝒏𝟑 + 𝟏𝟏𝒏𝟐 + 𝟑𝒏 + 𝟑𝟏

How many integer
values of 𝒏 …

… will make 𝑃 𝑛  an 
integer squared?

Behold a secret of the 
     multiverse!



Fantastic Four No. 51 (1966)

Question 11

4𝑥

2𝑥+𝑦
= 8

9𝑥+𝑦

35𝑦
= 243

𝑥, 𝑦 ∈ ℝ

𝑥𝑦 =?



The Amazing Spider-Man No. 50 (1967)

Question 12

න

If at least one 
man is not a spider…

And no
spider is 
an ant…

Which of the
following could be
      concluded?



Avengers Annual No. 10 (1981)

Question 13

Billy, Tom, and Wanda 
repeatedly take turns 
tossing a fair six-sided die. 

Billy begins; Tom always follows 
Billy; Wanda always follows Tom; 
and Billy always follows Wanda. 

Find the probability 
that Wanda will be 
the first one to toss 
a six.



Star Wars #63 (1982)

Question 14

𝑥 = 15 + 220
19

𝑦 = 15 + 220
82

If only you
knew the 
units digit
of 𝑥 + 𝑦 !

Base 10

You will

I only have 
10 options, 
Chewie

I should use 
the conjugate

This is 
surprisingly
difficult!

Maybe I’ll
just shoot it

Never mind



Teenage Mutant Ninja Turtles No. 1 (1984)

Question 15

QWJBOSLGWULSSKHSBUATAGUTOJ
OCAHEGCAFSBJGEGWBUELCGNOABJV

TENAG
MUIJR
LHOSF
PWBCD
KQVXY

Shredder doesn’t always play fair, but you
can help by decoding the above question
and answering it with the choices provided.



Watchmen (1986)

Question 16

Consider 
a 30 
question 
test.

I will 
propose two 
scoring  
  methods.

Method I:
30 plus 4 per
correct minus
   # wrong.

Sounds
familiar

Method II:
5 per correct
        …

… plus… 

…for each
blank add
two.  There
are 30
questions
on the test.

Understood?

Yes

It is 2025.
I score 84
on a test 
scored using 
Method I.

I score 93
on the test 
scored using    
 Method II.

Can’t
know

anything.

Not true.
We can know
a lot about

The test

Yes. We can
determine how 
may questions 
John left 
blank.

It’s..

Just
a

system
.

Enjoy
your

Nonsense.

Anti-
system

Feh
Why?

Systems are
useful for 
questions 
like this.

How many 
blank?

John



Maus: A Survivor's Tale (1986)

Question 17

Okay

If the number is a multiple of 6, then 
it is a number from 40 through 49.

I want you to guess a magic number 
using the following information:

Are the numbers limited?

Yes, 40 to 49, 
60 to 69, or 
80 to 89 only..

If the number is not a multiple of 7, 
then it is a number from 60 through 
69.

If the number is not a multiple
  of 8, then it is a number from 80 
through 89.  
              What is the number?



Infinity Gauntlet (1991)

Question 18

S is a set of points
𝑧 in ℂ such that…

3 + 4𝑖 𝑧 ∈ ℝ Tell me…

What shape  
 is formed?

This   
  question…

…is in 
the Argand 

plane!

Do you 
know?



Jurassic Park (1993)

Question 19

Define: 𝑎, 𝑏, 𝑐 = 𝑎𝑏 − 𝑏𝑐 + 𝑐𝑎

Find:
1, −1,2

Surprisingly 
Easy!

It’s hard
to fit…

Problems
into these
bubbles...

At
least…

When
readable. 



Naruto #2 (2003)

Question 20

Which of the 
following is 

closest to the 
probability that 

the base-9 
representation 
and the base-11 
representation 
of 𝑛 are both 
three-digit 
numerals?

A base-10 
three-digit 
number 𝑛 is 

selected 
at random. 

Choose
the
best

answer!



The Preventive Maintenance Monthly Harry Potter Parody (2004)

Question 21

A cauldron initially contains 
red marbles and blue 
marbles only.

What if red marbles 
are added to the 

cauldron until only 
1

3
 

of the marbles in the 
cauldron are blue?

Then the number
of red marbles
would have 
tripled. 

What fraction of
the marbles 
initially in the 
cauldron were
blue?

I know the answer! Do you know the
answer?

If so, choose it!



Scott Pilgrim Gets It Together (2007)

Question 22

If 𝑎 +
1

𝑎
= 4, find 𝑎4 +

1

𝑎4



Lockjaw and the Pet Avengers (2009)

Question 23

Four congruent rectangles     
are placed as shown. The area of 
the outer square is four times 
that of the inner square. What is 
the ratio of the length of the 
longer side of each rectangle to 
the length of its shorter side?



Logicomix: An Epic Search for Truth (2009)

Question 24

Which 
statement in 
the answer 
choices about    
  me is false?

Almost all the text on this page is from 
the original comic about Bertrand Russell



Diabolik (2010)

Question 25

𝑥 = 2𝑥 − 60 − 2𝑥

Find the sum of all…

Possible 𝑥 values.



All-New Marvel Now! Point One No. 1 (2014)

Question 26

Which of the 
following numbers

…is a…

perfect

…square?

I can be any
shape I want!



Question 27

Disney Comics (2018)

Scrooge has a 
collection of 23    
   coins.

Some are 5¢, some 
are 10¢, and some are    
     25¢.

He 3 more 10¢ coins than 
5¢ coins, how about that?

The total value of his 
collection is 320¢

Quack!

Later….

I’m gonna get
a great 
picture of all
those coins!

Then I can figure out how many   
      more 25¢ coins …

…there are than 5¢ 
coins!

Hey!
Stop!

Figure it out 
another way!

Yeah!



Uncanny X-Men (2019)

Question 28

Hey Bub!

A sphere 
with center 𝑂 has 
radius 6. A triangle 
  with sides of 
          length 
        15, 15, and 
     24 is situated 
    in space so that
       each of its 
            sides 
       are tangent to 
         the sphere. 

Oh no…

What 
 is the distance between 
 𝑂 and the
                    plane….?

The one 
determined by 
the triangle?

Ahhhh!

Yes

Please
    don’t 
encourage
     him,
 he always 
does this 
annoying...

I
hate
Geo-
metry



Guardians of the Galaxy (2023)

Question 29

Let 𝐿1 = 1,
  𝐿2 = 3, &

𝐿𝑛+2 = 
 𝐿𝑛+1 + 𝐿𝑛

How many terms
from among 𝐿1, 𝐿2, 𝐿3, … , 𝐿2023

         are even?

We all
   know 
Rocket is 
the smart   
     one

You know it!

Enough!

Just look
for a
pattern.



Universal Monsters Frankenstein #1 (2024)

Question 30

?

Then…

You 
made it! You really dug 

into this test!

Ugh
I know…

Your
reward is 
an easier
    
      question…

Evaluate:
𝟗𝟗𝟎𝟏 ∙ 𝟏𝟎𝟏 −

𝟗𝟗 ∙ 𝟏𝟎𝟏𝟎𝟏
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